Ml = 0l & AFESE EH Al A
2024 AT 20{AF LBHS|H Q11
2 gl
HE: HHSHAH|(IKD)
o2t J|=3H| (crel: M)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
CIE 2,134,374 2,841,516 NAT07, 142
= 330,723
[ 6,600
= 1,797,051
EEEEELTCEIERD) 45,140 45,820 AB80
DIEE=LE] 45,140 45,820 1680
BIEE=E] 45,140 45,820 1680
201 LB 32,180 32,860 1680
01 AF222IHI 22,180 22,860 1680
OLBt2Y] 15,700
0J1Z2AFESHI 100,0002%2791 2,700
OAIRID| & SARE P2
11,000,000 11,000
0J|EF=2H] 2,000,000 2,000
OSZH|(21 Y UREZ)
8,0002%2701%304A! 6,480
02 222 10,000 10,000 0
ORER= = 10,000,000 10,000
202 Ot 12,960 12,960 0
NENED 12,960 12,960 0
O2AA0HI(SSEYI)
180, 000464 &+ 122 12,960
MY TE 29 (01D 4,800 4,800 0
SNERSA 4,800 4,800 0
ol22HAY| 4,800 4,800 0
203 2= 4,800 4,800 0
04 ENSHAREAIH 4,800 4,800 0
ORNM2ZIRFAY| 400,000 %122 4,800
DEA QIMHIA M2 415,058 298,828 116,230
= 37,278
= 377,780
20| DX IHE 2 331,450 214,737 116,713
= 10,000
= 321,450
QIRINHIA M2 276,518 164,652 111,866
201 LB 113,918 121,352 AT 434
01 AF222IH 88,897 72,853 16,044
OLBt2Y] 20,673
021212 AIRD|D| 2H| 13,173
00I2Xs SR
300,000+ 10CH 3,000
oglojes 2 200,000 11CH 2,200
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2A:

M@ DEZ QIMHA MR
cto: M2X0| 0| 2
CHel: IOl DIAXRIME 2 (1ol 2
- FE - G9I(31) - HISAY - B Ot Gl HImE2
0 CARZ )] A
300,00024+2CH*23] 1,200
oRolnIReE)| El4
420,0002*13CH*13] 5,460
0 POIDIRYUTI| HEA
40,00024%13CH13] 520
I =Rl ===V
61,0009 % 13CH* 18t A 793
otz =8 3,900
0 SLAl 20,0002 *5 52 122 1,200
o XX 15,0002 * 155+ 122 2,700
0DIANAIQIM (KIS X, HED|H, MBEY S)
50022, 00004 %2 2,000
0=E M= 200243, 00004 600
00124l HIXI2 DX P
200,000 55 1,000
ORIAl SHFH|(ZI|ZEAS U otxst
=) 200,000 * 122 2,400
OZI|HR)| AQZE Tl
50,0002 *4CH*43] 800
o294 3,100
0FEDIHAOSYS| ATt
100,00084%201x33] 600
0DIFAXHQIAS| 2ct
100,00024%501%53] 2,500
OZHI(QIFHATADEXI)
8,00021+601 %804 3,840
OBest ZH2RR 2EIAE MM 22
600, 000245301 1,800
SEIED IRl == =T
400,0002 250113 10,000
ODHOLE DIARFAZIDS
14,000,000 14,000
OZXX} QIS RIS
200,00024%353] 7,000
o=oloigga)| Xz
145, 0002 % 14CH* 122 24,360
oRoloigeaI|R IHC2H)| SX BA
5,500 * 14CH* 122 904
2 2229 25,021 48,499 23,478
OREXEIIZAL FOHY SER2(SD)
2,5302%5, 50024 13,915
OREXI AKX UEE ARYEEX(SD])
2,5302%2,00024 5,060
OB S 2EHe2
4302%1,000S 430
OSAIQ2(QIEUES L NSOIRZ)
6,000+ 122 72
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S oI
HM: DEA QIANHA M2
G2 A=3XOl QIFMHZIME &Y EEEEN
S - BE - S9(S) - HIRAKY - BES Ol &k Gl HImE=2t
SEFEEINES
38,5002 %1204 Ax 122 5,544
202 Ot 7,200 14,400 AT,200
01 2LH0IH 7,200 14,400 AT,200
OPI B H A DAY
200,0002%301x 122 7,200
203 2EZIH| 2,500 3,000 A500
03 AIBEZRIQREAIH 2,500 3,000 A500
ORIAIMER(FOISE 012t DIRHME 5)
2,500,000 2,500
303 ZA=2 12,900 13,900 A1,000
01 Za=2 12,900 13,900 A1,000
OSALY 22 B
100,000 %2123 400
OPIHE| DILBIXIME R42M Alat
3,500,000 3,500
OBest ZIEIZPY 2EHIAE AlY
9,000,000 9,000
401 Al&HI L2 0HH 88,000 0 88,000
01 Al&H] 88,000 88,000
OR0I0IALZ)| BA AX|AIA
22,000,000 *4 04 A 88,000
402 QIZERF=0|H 12,000 12,000
03 Q12+ EFAIH] 12,000 12,000 0
OXERHSE HIZ - DSHBEAK S|
2 12,000, 00024% 174 12,000
405 KHAHE SH 40,000 0 40,000
01 AU SEFSH| 40,000 40,000
ORoloIAL3z)| ¢
20,000, 000 »2CH 40,000
FOISEAR 2 27,072 22,205 4,847
201 L2 A 17,472 17,625 A153
01 AFRZH2IHI 17,472 17,625 A153
OF0ISE 2H XL 228 840 Y=
55,0002 * 124 Ax23] 1,320
OFLUEE =x2 L2Z2X
35,0002 %20EtA 700
OQASHANUSE S48
92,0002 % 1182HA 1,012
OFpls=na MAl S
8,000 %2505 2,000
OSQNTAIASOIE EL2E 20H
2,000,000 13 2,000
OF0USES ¢3U2
4,50024%1,6000H 7,200
OItEeZ)| iz 450,000 427 1,800
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S H
A DEA JUJAMHIA FHS
cer M=H0l DN E 2Y (CHol: X 2)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
OAIZIE ZH ===
120,0002% 12 1,440
405 KHAHE SH| 9,600 4,600 5,000
01 XL 2 EH = 9,600 4,600 5,000
OFUSEZ TAASIAIAE 72
1,000, 000 *7CH 7,000
OQIZAINH 7 300,000 *2CH 600
O3CSHZRIE I 72 1,000,000 <2CH 2,000
THMICH F=0ISSAIAE REAY 17,860 17,860 0
308 AHXIEHMISOIA 17,860 17,860
13 21 2SOICHEHE A XIS ASYI 17,860 17,860
OXMICH FOUSEAIAHE 2 A2
17,860, 000& 17,860
AL 38l K& 10,000 10,000 0
= 10,000
201 22| 10,000 10,000 0
= 10,000
01 At=22t2ld| 10,000 10,000 0
os:Eg g8 ¢ 4,0002%5007H 2,000
= 2,000
ONHAHDIA S8 S M3
40,0002%43] 160
= 160
OIZ2IE A2E 2¢
400,000+ 1CH*43] 1,600
= 1,600
OSAEX 7 24,0002 x5t A x 122 1,440
2 1,440
ONREE +¢ 80,0002 *103] 800
2 800
ONTLZMA HE L 2H2E 2
4,00024%1,0005 4,000
= 4,000
NSHHSEMR XIF 27,278 27,761 A\483
= 27,278
NEZHSEAR 27,278 27,761 A483
= 27,278
201 eI 22,878 23,361 N483
= 22,878
01 AtR2teld 22,878 23,361 N483
Oge+=ZHI(SH THHE) 22,878
ANEEE S 72 10,000,000 10,000
= 10,000
0MMARE 5 7 12,878,0002 12,878
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SA: ol
B 7%1 DI2AHIA R
ol JIESZAHSSEAR A& CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
= 12,878
202 Oit| 4,400 4,400 0
= 4,400
NIETE 4,400 4,400 0
OZZ0HI(S THHHE) 4,400,000& 4,400
= 4,400
NINOl DAl ME 56,330 56,330 0
N3 g2 =X 56,330 56,330 0
201 LBt2y| 37.330 37.330 0
01 AFR22lH] 31,930 31,930 0
OYetagH| 7,030
OHLEIIIAR 2t HRE 970
oZENEY By 90,0002 +32 270
oLt HEE
70,0002 %1051 700
0= HEAS 2 6,060
odoINtE £ SUII(M) 7
22,0002/ %308tA 660
oAoIRI2 £ EHEXI(A3) 7L
30,0002/ *108tA 300
oAt HIZN 2 Zelf £ 7o
850,000 *2CH*33] 5,100
CEEIG/ o Bi=I=ESS)
8,00021+501+80A! 3,200
OZRH QRG] Baizet
100,00021%301%253] 7,500
OMNLEI}t AREX XAt
850,0002* 12 10,200
=X O|HUMBEN 2ESLE
200, 0002 *20Z X 4,000
02 222y 5,400 5,400 0
OBRERE HEE SR
50,0002 * 122 600
ONLE}t APEX X2ARBH| S
400,000 * 122 4,800
202 Oit| 18,000 18,000 0
NETTE 18,000 18,000 0
OMLEIIIAD 8
200, 00024501122 12,000
ONLBIIH S AR
100, 0002%501* 122 6,000
203 AP 1,000 1,000 0
03 Al E XL EAIY| 1,000 1,000
OFN U DE(FEHelg g2z
1,000,000& 1,000
Fel HM U 2 45,025 45,905 880
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S oI
MM e M Y 29
Chel: A=QIAMHIA M2 (cHol: x2)
SN B SL(3) - MBAY - BaS Ofl b Gl RS2
AS0URANHIA M2 45,025 45,905 2830
LHAIQlE =012 AHIAHIZ 45,025 45,905 1830
201 L2 S 27,025 27,905 1880
01 AlR2:2IH] 24,065 24,945 1830
O] 16,065
0HESUHUSANE
60,0002 %122 720
0HEGIRIEA S ST 7 3,060
0A3 30,00021%20EtA 600
oAd 22, 00024302 A 660
oIElE EH 7
450,000 %4013 1,800
0H=5IIY S 2 HRE 2 S/ Y 1,180
(o Fab=i= =S 50,0002 +62 300
0 EO| 5| A ALIR 30,0002 +6H 180
0QEMELT(1E )
700,000 * 1K 700
0RIBHHSZE SEsE 250,000 *6H 1,500
0REIASE 2 FOELZS(E4)
55,0002% 110K 605
0HZAL SRS 42
150, 0002/ *60 2 9,000
OH=2A3| aalst
100,000 %1821x23] 3,600
O=zH| 4,400
0= It RER 8,000 *501%80A! 3,200
09IBIA=2 L AFOIY ADEX
8,0002%501%304! 1,200
02 222 2,960 2,960 0
OAH=0IY 2P 2ERS 2,960
0L et 43024%1,00024 430
=2 2,5302%1,0002 2,530
202 Ot 18,000 18,000 0
01 2LH0IH 18,000 18,000
OAEF A R43H
200,000 %501+ 122 12,000
OABEQl SREZAL YR
100,000 %501+ 122 6,000
EXNFBRE 22l 1,623,831 2,445,863 A\822,032
= 293,445
[ 6,600
= 1,323,786
Aglgh= XEIIMHIA XIS 261,511 180,990 80,521
[ 6,600
= 254,911
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=N SR
M EXEENE 2

che: plglgl= XIXRIRMEIA X (Ctol: ®M2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
PNESEIERCIIDNESE=E =Pl 245,011 164,190 80,821
201 22| 211,901 131,080 80,821
01 At22telH] 211,901 124,480 87,421
Ogbt~24] 200,251
0ZAHZHl & E=+=2
500,000 * 102 X 5,000
OXIFI|=E X2 29,700
oKN&EE2HE 99,0002 *300& 29,700
0=EIEH SEEIA 28 152,436
o=IPIEH 362,0002/+83& 30,046
oXNZAAEXHE 362,000 %100 36,200
oKN&EE2HE 13,0002%6,630& 86,190
OUHEESE MMLRE 7Y 9,120
0A3 30,0003 %102 A 300
oM 22,000 21+60 LA 1,320
o2y &l 500,000 *3CH*53] 7,500
0=EEHl & ENERES 3,99
0 S IZ2|B(360%) 2,500,000 *1CH 2,500
oSEZIUE EA ol
41,0003 153 615
o0IS&2IZAM EX
8,800&*100% 880
O=gt| 4,480
0EXIOISYRFX 8,000 <42 1x80A! 2,560
0K R EHSERFE
8,000 *421x604 1,920
O=EHHI(GPS) ==4H|
11,400, 0002 *1CH*5% 570
OXHZMSEZIANAB R E 4
6,600,000 6,600
202 04l 13,200 13,200 0
01 2LHodHI 13,200 13,200
OXIHRIRAH P8l
200,000 #401x 123 9,600
OXXEZSHAL & JIEE SEZAL
100,00021%301* 122 3,600
207 AN 19,910 19,910
01 ARESH] 19,910 19,910
OXEZASEAZIAIAE HOHO0IE 19,910
0=EZ T Mitst 7.,7002%1,8000H 13,860
00ISHCIZN Hitg)
770&*7,0000H 5,390
(HESZR Hitst 2,200 *3000H 660
NASKAH dt 29 16,500 16,800 2300
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SA: eI
M EXFBNE 2
B9 AlZgh= XIFBIZIMHIA XIS (crel: 22l
SH - EHH . O(3) - NRAIY - BAS Ofl st Gl RS2
< 6,600
2 9,900
201 LBt2 Y| 16,500 16,800 A300
[ 6,600
2 9,900
01 At22t2] 16,500 16,800 A300
OXNZIIE=H MR 252
8250021200 & 16,500
= 6.600
2 9,900
XIETHZAL 22 685,729 1,688,167 1,002,438
2 293,445
2 392,284
KIETHZAL 2t2] 392,284 1,304,061 A911,777
201 LBt2y| 70,884 75,884 5,000
01 AtR2t2H] 51,480 56,480 5,000
OEIEIES=1] 43,640
0R0IHIBI|(ER) &2 s3S2Y|
15,000,000 15,000
ORI THEAALS XIPH 28 =2
300, 0002/ *50Z! X 15,000
ORETHEAG R 22X L ARE gl 3,280
oEEA 100,00024+55 500
oMEX 22,0002 %102 A 220
oI AQE 320,000 %204 *43] 2,560
OXETHEA EESE 7
20,00021%500H 10,000
OXIETHEAL B2 S0 HZ
60,0002 %34 A#23] 360
o2y 4,000
ORI THEAI 5| B4l
100,000 %501 %43 2,000
0ZHZHRI2S By
100,000 *501%43] 2,000
o= 3,840
NEYESYRET=ESY
8,0002 *401%80A! 2,560
0EXIARK SOl
8,0002 *401*40A! 1,280
02 2229 19,404 19,404 0
OXNEYEAYGR 2B 19,404
ogt 450R%70021%23] 630
071 2,9802%70021%93 18,774
202 OdH| 14,400 14,400 0
01 2LH0iH| 14,400 14,400
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2AM:

.

SN,

EXNZEERE 2l

[ RPN R PN BV £ CEREERD
SN BB BRI(E) - HIRAY - B Ot Gl HIRE2
NERENEEES
200,00024%401% 128 9,600
OXIETUEAL BEEZAL HRFE
100,000 81 %401+ 128 4,800
401 AI&HI2 = 0HY 300,000 1,213,777 ~913,777
01 AIZH] 300,000 1,213,777 ~913,777
OXIETHEAAIY =2 HAH2022 KIXTHE
AH) 1,000,0002*300Z! X| 300,000
405 XHAHESHI 7,000 7,000
01 AU SEZFSH 7,000 7,000
=28 7Y 7,000,000 7,000
NEWEI=IESS 293,445 384,106 290,661
2 293,445
201 Ler2| 13,973 18,290 A4,317
2 13,973
01 At=2t2lH| 13,973 18,290 4,317
OXETHZ=AL 22| 13,973,000 13,973
2 13,973
308 XIXISHHSOIA 279,472 365,816 86,344
2 279,472
13 22 SOICHEHE A H 2IEFAII] 279,472 365,816 86,344
OXIETHZAL 25|
174,670 1,600 X 279,472
2 279,472
TAHS 22 676,591 576,706 99,885
C29 FApe 408,791 313,935 94,856
201 L] 83,500 80,860 2,640
01 At22r2lH] 82,060 42,420 39,640
OYstygH| 33,900
ORAIADE U AIREE 2
1,500,000 1,500
0E2HFA B &40t HZ
55,0002 %24 2+23] 2,640
0ADIEIIOIA ©H2T| WAl
1,200,000 =2CH 2,400
02N EHS XA} 90,0002 54 4,860
0ASHSE AR EAL
2,0002%11,2504 22,500
OE=EX2zS ws|
2,500,0002%29! 5,000
OAIEZH KXY 37,240
ORSMTE SYAAE RN L3
1,270,000 % 12CH 15,240
0FANE OHHAIHE SNBS
22,000,00024 %14 22,000
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S oI
HM: EXNFEXE 22
27 ST acl (ol =21
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
o2d4+g 2,800
0=AREQ2S 29
100,00024#521%33] 1,500
oXIgeds 2% 100,000 %301x23] 600
OXIGAIEE TIPS 29
100,0002*791%13] 700
O3 3,120
0E2YFA A2EX
8,0002%301%80A! 1,920
OXIGIAIEE FAISIAIY ARFEX
8,0002%301%504! 1,200
02 2229 1,440 38,440 37,000
02222 2 HMA 1,440
0ADIEIOIA AlBE
60,0002 *2CHx 122 1,440
202 O4H 10,800 10,800
01 2UHoi| 10,800 10,800 0
OZNHE A28
200,0002%301 122 7,200
OSSR L 2HAD =7
100,00024%301x 122 3,600
207 1IN 22,000 22,000
01 A 22,000 22,000 0
OXIZ &Yl ZALES 22,000,000 %14l 22,000
301 YstEA2 1,000 1,000 0
14 JIEtE A2 1,000 1,000
SEAEINY ADEAZ
500,000 *13] 500
ORSAHY ADnEAZ
500,000 %13 500
401 Al2HI L2 0HH 210,000 135,000 75,000
01 Al&H] 210,000 135,000 75,000
OHSsE &X| 138,000
0HSHSE AR M
10,0002 %800H 8,000
0-s ASHsT DX =l
10,0002 %13, 000H 130,000
OFACHKAIES &X 72,000
02T &= 2 FY| &X|
180,000 +400H 72,000
403 RFXISHHISXH=20( ™ 81,491 64,275 17,216
02 2| ZS0ICHERH=2 R R{EFAH 81,491 64,275 17,216
OLZ2YFA J|E2E R SLALY
27,764,000 % 14! 27,764
FAYSAAAE(KAIS) SXI2e 53,727
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SA: oIt
H: EXFEXE 2
el SAHEL 2el (Crol: X 21)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
0FAZBRALAAE 29K
15,655,000 14l 15,655
0GIS SW X242 2,518,000 14! 2,518
OXIAITH 2= 20,039,000 % 14! 20,039
00Ol S&/xst 15,515,000 %1 A! 15,515
NCINEESSINE 213,000 213,000
207 AARIHEH 213,000 213,000
02 HADHEHH] 213,000 213,000 0
OZ2 2 XISIAEES B REAIY
213,000,000 x 14! 213,000
SEAEFTEAIAE (KRAS) 2L 54,800 49,771 5,029
201 LBt 32,800 49,771 A16,971
01 AF22t2IHI 32,800 0 32,800
ORSMEBTRRAALY X D2 19,515
OATEH (H/W) 6,898,550 % 14| 6,899
00Z Xstudio(S/W) 550,000 * 14! 550
0GeoNur is(S/W) 9,240,000 14l 9,240
0GeoDT(S/W) 739,200R1% 14! 740
0CubeOne(S/W) 2,085,600 14! 2,086
OZINBUHESEAIAL S L% 13,285
0GeoGate(S/W) 6, 124,800 14l 6,125
OAltibase(S/W) 4,260,000 %14 4,260
0JEUS Enterprise 6.0(S/W) 2,900,000&*14! 2,900
405 XHAHESH 22,000 22,000
01 AL SEFSH| 22,000 0 22,000
ODBMS(Oracle standard) ¢!
22,000,000 * 14! 22,000
HeEs (o) 520 300 220
RSN 520 300 220
2x3 ez 520 300 220
802 BHE=D|E 520 300 220
01 20NBx3tE=2 520 300 220
02023 IIEDHSEANR BXS 0K
H 120,000 120
02023 XIETHEAAIY 2DEXZ 0|t
oK 400,000 400
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